PRIORITE DES OPERATIONS

EXERCICES SUPPLEMENTAIRES

Calcule et donne la réponse sous forme de fraction irréductible :

1) 7-14+6=
2) Tx4+2=

(3) (5-8)x9=
4) 32-[(12—-6)+8]=

(5) (47-2+5)+(16+8)=

(6) (44+22+11)+11-2x3=

(7) (#-5+10)+7=

®) [49—(6x6-15)+7]=

(9) 54+[16—4x4—(10+3)|=

(10) 6x[3+(9%x3-22)+2|=

(11) (9x8+2%)+4=

(12) (=5) —4x(6+((-7)+8))x3=

(13) 5%(64+3—4)+2-7—(1346—5)+(3+4)x5=
(14) (22x(6-9))+3+(~4) =

(15) (10—4) =9+ 6=
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(16) ((=3)x(10+(~7))) = —(-9)' =

(17) ((7-5)x3*)+2+4+(-8)=
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(22) (=9)~(~10)x|(~4)~(~4)’| =
(23) ((1414)x3) = (4+5) =

(24) 449247 =

(25) 21+ (249 (1+7)) =

(26) 5+ 3 x(6+1)=

27) 6+(5*%2)+(15-5)=

(28) 52+[E_§]X§:
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